1/cdo/dp_ [GeV ]

Ratio to ATLAS

[EEN

T

[
<
I

[HEN
o
R

1073

107

0.5

7000 GeV pp Z (Drell-Yan)
_I I | I I I T T T | I I I I T T T | I I ]
= pi (electron channel, dressed) =
| m ATLAS _
= —o— MadGraph5 2.7.2.atlas3 lo . =
[ --o-- MadGraph5 2.7.2.atlas3 loljet \'o
T o MadGraph5 2.7.2.atlas3 lo2jet N
= —o— MadGraph5 2.7.2.atlas3 nlo m =
— --0-- MadGraph5 2.7.2.atlas3 nloljet o
E | | | | | 1 1 11 | | | | [ [ | | | §
:I T | T T T T T T 1 | T T T T T T | T T :

'$ (ee) [GeV

Rivet 3.1.10, = 700k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


